Check Homework

Map AABC to APOR.
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You can map S ABC to APOR by a reflection
followed by a translation.
Reflection: (x, y)—(—x, ¥)

Translation: (x, y)—(x, y—86 )

6. Map ABCD to EFGH.

You can map ABCD to EFGH by a reflection
followed by a dilation.

Reflection: (x, y)—(x,—y)
Dilation: (x, y)—(2x, 2y)




7.

Map ACED to ACBA
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You can map ACED to ACBA by a reflection
followed by a dilation.

Reflection: (x, ¥)—(—x; ¥)
Dilation: fx,y}—-{%x. %1"
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Map ABCDE to JKLMN.
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You can map ABCDE to JKLMN by a
reflection followed by a dilation centered
at the origin followed by a translation.

Reflection: (x, y)—(—x. ¥)
Dilation: (x, y)— %1. %}r}

Translation: (x, y}—r['x— 1?. ¥— 1]



9. Map ABCD to JEKLM.

You can map ABCD to JKLM by a reflection
followed by a dilation centered at the origin

followed by a translation.
Reflection: (x, y)—(x. —¥)
Dilation: (x, y)—(3x, 3¥)
Translation: (x, y)—(x+ 1. ¥ — 2]



18. Which of the following is a dilation?




Hand Back Quizzes



Quiz Tuesday

Dilations 16.1

*Sequence of Transformations
16.2

Proportions (7t grade)
Parts of Similar Figures 16.3
*Similarity Shortcuts 16.4
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*Objective:

*Explore and understand similar

polygons
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@; that are similar((~)/have the same

shape but not necessarily the same size.

S

A1 is similar to A2(A1 ~ A2).

A N

A1 is not similar to A3(A1 + A3).




Oh look- a fancy box!

Similar Polygons

DEFINITION DIAGRAM STATEMENTS
Two polygons are 6
similar polygons if A ] v B
and only if their c c LA=/E
corresponding angles — 12
are congruent and their| D 1 7C EQ F LB=/ZF
corresponding side -
lengths are £C= LG
proportional. 10 10.8 /D= /H
] (7] AB_BC _ (D _DA_1
H 8 g EF FG GH HE 2

ce . o GH HG 2
ABCD ~ EFGH £
\ A@ %o DAt




Writing a similarity statement is like writing a

congruence statement—he_sure to ljst

corresponding vertices in the same order.
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pg. 853 (A, B)

Example1 Identify properties of similar figures.

@ Figure EFGH maps to figure RSTU by a similarity transformation. Write a proportion that
contains EF and RU. List any angles that must be congruent to £G or congruent to £ LU
EF _ EH

7S = RU T is congruent to £G, and £H is congruent to ZU.

Figure JKLMN maps to figure TUVWX by a similarity transformation. Write a proportion
that contains TX and LM. List any angles that must be congruent to £V or congruent to ZK.
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— is congruent to £V, and £ ol is congruent to £K.
M vw




pg. 854 (5, 6)

Your Turn

Triangles APQR and ALMN are similar. If QR = 6 and MN = 9, what similarity

transformation (in coordinate notation) maps APQR to ALMN?
The ratio % = 1.5, therefore the similarity transformation is (x, y) — {1 S5x, 1.5 y}.

Error Analysis Triangles ADEF and AUVW are similar. 5:‘;, = LE: Is the statement true?
No. The proportion must compare corresponding sides. One possibility is % = %
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Find the value of x. Find the value of y. ¥ 4cm
r_ . IK _ MN Hx— 51
mLLMN = mLXY L VIV ¥Z 4 1.5¢cm
5(x—5) _ Ax N W
= -8 _ 15
5x—25 _  4x 4 1
2x—8 _ 1.5(4)
X _ 25 o
2x—8=06
2x = 14




Your Turn

Use the diagram, in which AABE ~ AACD.

Find the value of x.
msC =msABE

50=3x-+ 14
36 = 3x
12=x

pg. 855 (8, 9)

9. Find the value of y.

AD _ CD
AE ~ BE

56+y 5

56 4

5.ﬁ+;.r:%.5.ﬁ

y=14



Homework

‘pg. 857 (14-17 write a system,
20, 23, 26)



